do/dp_ [pb/GeV]

Ratio to ATLAS

=
o
S

T

|_\

o
w

=
o
N

10

1071

0.5

7000 GeV pp Jets
= L L | I I =
- Jet P, (antl-kT(O.4)) 2
| = ATLAS N
= Alpgen+Py6 2.1.4_6.426 350-CTEQ5L =
— - Alpgen+Py6 2.1.4_6.426 351-CTEQ5L -
| "~ "Alpgen+Py6 2.1.4 6.426 352-CTEQ5L _
- e Alpgen+Py6 2.1.4 6.426 356-CTEQ6L1 L
B u |
B = |
u . _
_| | | | 4 1 | | | | | [ | |_
:I : T T | T T T T | T T T | I:
koo 5

" | " 1 " 1 " 1 " 1 " | " " | "
100 150 200

pT(4th jet) [GeV]

Rivet 3.1.0, = 21k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


